Serienresonanzkreis

Stromkreis mit Spule (L), Kondensator (C) und Widerstand (R)

Zustandsgleichungen 
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     Q.neu <-- Q.alt + dt*(Q_Punkt)

       Startwert Q = 0

     I.neu <-- I.alt + dt*(I_Punkt)

       Startwert I = 0

 Zustandsänderungen 

     Q_Punkt = I

     I_Punkt = U_L/L

 Konstanten 

     R = 1

     L = 0.001

     C = 0.001

     omega = 5000

     Uo = 100

 Zwischenwerte 

     U_C = Q/C

     U_R = R*I

     U = Uo*sin(omega*Zeit)

     U_L = U-U_R-U_C

     Wirkleistung = I*U_R

     Blindleistung = I*U_L+I*U_C
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